GN 613

2 B H

- BB B RN AR,

- BLEDRRA,

- REREEREREPARRCR B, TXWERERAA, AK
R), ®OER . AL, R RE AR R

R AT(G, CKR), TREFF EXRLA 24, SFREAhe
B WL oy AR AL

B AR E B W9 R H(AK GKA),

W PEARATANEAHTREA 2, ON 6134 K 4 T B4 (i fF
i

6. A AK %l
(747 W7 0 M. JT 4#)
MREEEHELIIGN 6131, HE LRARME, TELIANERLE D
1 e A B ATER AR
i , ———
R TEE .
' Eﬁizﬁj
! i
H |
| d
L
G Al GK #
dz
!
bl
|

o
&d
ER

® = L di 6g dz D | I l4 f#l =
GN 613-5- 5 18 M10x1 - 21 22 5 - 7 17 18 GN 613.1-5
GN 613-6-A 6 225 M12x1.5 - 29 26 6 - 9 24 29 GN 613.1-6
GN 613-8-A 8 27 M16x1.5 - 31 34 4 - 11 30 62 GN 613.1-8
GN 613-10-A 10 27 M20x1.5 - 31 43 10 - 19 45 92 GN 613.1-10
GN 613-5-AK 5 18 M10x1 - 21 22 5 - 7 17 25 GN 613.1-5
GN 613-6-AK 6 225 M12x1.5 - 25 26 6 - 9 24 38 GN 613.1-6
GN 613-8-AK 8 27 M16x1.5 - 31 34 8 - 11 30 82 GN 613.1-8
GN 613-10-AK 10 27 M20x1.5 - 31 43 10 - 19 45 127 | GN613.1-10
GN 613-5-G 5 18 M10x1 M5 21 22 5 6 7 17 14 GN 613.1-5
GN 613-6-G 6 225 M12x1.5 M6 25 26 6 10 9 24 27 GN 613.1-6
GN 613-8-G 8 27 M16x1.5 M8 31 34 8 12 11 30 99 GN 613.1-8
GN 613-10-G 10 27 M20x1.5 M8 31 43 10 12 19 45 86 GN 613.1-10
GN 613-5-GK 3 18 M10x1 M5 21 22 4] 6 I 17 21 GN 613.1-5
GN 613-6-GK 6 225 M12x1.5 M6 25 26 6 10 9 24 37 GN 613.1-6
GN 613-8-GK 8 27 M16x1.5 M8 31 34 8 12 11 30 79 GN 613.1-8
GN 613-10-GK 10 27 M20x1.5 M8 31 43 10 12 19 45 121 | GN 613.1-10

@ ‘ ele‘a,'.nnu'l‘in“ “ELESA" and “GANTERGRIFF" models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.




